, abs(Entryz-Exitz) in TEC 005

X
1400

1200

1000

800

600

400

200

%

KS=0

L I\ I [
0.01 0.02 0.03 0.04 0.05 0.06

, abs(Entryz-Exitz) in TEC 152
0

900
800
700
600
500
400
300
200
100

%

KS=0

0.01 002 003 004 0.05 0.06

,abs(Entryz-Exitz) in TEC -050
0

600

400

200

%

x10

KS=0

0.01 0.02 0.03 004 0.05 0.06

,abs(Entryz-Exitz) in TEC -215

700

600

500

400

300

200

100

0

KS=0

0.01 0.02 0.03 004 005 0.06

1200

1000

800

600

400

200

o
X
=
K

abs(Entryz-Exitz) in TEC 051

0 0.01 002 003 004 005 006

600

500

400

300

200

100

, abs(Entryz-Exitz) in TEC 225
0®

KS=0

0 0.01 002 003 004 0.05 0.06

1200

1000

800

600

400

200

450
400
350
300
250
200
150
100

50

,abs(Entryz-Exitz) in TEC -105
0®

KS=0

003 004 0.05 0.06

,abs(Entryz-Exitz) in TEC -252

KS=0

X
w =
<,

0 001 002 003 004 0.05 0.06

, abs(Entryz-Exitz) in TEC 115

1000

800

600

400

200

%

KS=0

" A I T
0.01 0.02 0.03 0.04 0.05 0.06

, abs(Entryz-Exitz) in TEC 253
0

1400

1200

1000

800

600

400

200

%

KS=0
L]

L e
0.01 0.02 0.03 004 0.05 0.06

, abs(Entryz-Exitz) in TEC -151
0

1000

800

600

400

200

%

ey
(=]

KS=0
[

0.01 002 003 004 0.05 0.06

,abs(Entryz-Exitz) in TEC -325

1000

800

600

400

200

LN N B B By B L B B B B R B Y4

%

KS=0

001 002 003 004 0.05 0.06



	Contents
	Page 1


